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Let them linger until after o2, and use them with not their kind

OVERVIEW

The X773 asks why did 27 rule that 172w° 7052 M7*7P; seemingly we can hold them
until after nod and then use them to cook foods that are 122 1°X of the y»nn which is
absorbed in these pots, since 27 maintains that 137 IR? ynn is 90w if it is not 01
oy (there is only a 17wn of y1r in the mixture). N190N clarifies the question.

mooIn asks:
- 11;‘!\’)}: YN NP NNPINT NDYOLT 1Y N9204 9N PNy 19%249Y NN

The %' is astounded! Granted that we maintain that the taste of the y»n

which is absorbed in the pot is considered miniscule, the reason for this is -
- 211153 1290 YNRNWAY P99 PRY

That it is not usual to use a lot of yxn at one time, therefore since only a wn is

expelled it becomes '02 12 and therefore seemingly it should be %03, but -
- PHvan PN s)):ﬂ‘l NN IPAN) “AInnaY oIN PHvaN PN 3])5‘\ NN 0PN YN

Nevertheless, we learnt in a ;71w» that one is not permitted initially to annul an
=12°K, and we are not permitted to be Puva%» even an J3277% 1R, Moo proves that
the rule of 77MN3% MO°X PPV PR applies even to an 13277 NOX -

- SDYUY 19 190XV DMPNA D3N 19NN N1 19 NY ONT
For it this were not so (but rather 71037 71277 M0°X 7°702n) what did the 29mon
accomplish with their enactment that 12°% 1°Xw2 17 is MOK up to sixty times 0

more than the amount of MoK -
- 7‘11V’Nﬂ Svay Q’VMB 99°W HININ

' Only a ywn of yan will be expelled from the pot when it is used, so certainly there will be sixty times more n°A
than y»n the y»n will not be avv 1m3).
? Seemingly Moo means that when you cook ynn there is usually very little y»m; most of the pot consists of soup
and other ingredients (think of chicken soup with noodles or kneidlach)
" "D nun.
*If an Mox accidentally became mixed with 7n°77 the mixture is permitted if it is not ayv 301 (or '02 Hv3); however
initially one may not take an Mo’} and put it into 2> so that it should become 5va. Here we are taking the ynn
(which is 77°7p7 °19172 1172) and inserting it into the Tn°7; we are 77nN37 MO°K 20N,
> In this case of nod7 P9y NWW van (even though that 27 agrees with 77717 " that it is Xn»7X7 MOK, nevertheless) the
absorbed ynn is 5"2v1 (since it is an 11> 12 11°K) therefore the 10X to cook in it is only 132777 (if we assume 0 5"7w1).
® See X"2w 71 'o1n where it seems that [by 119 11XW2 1 it is XN*RTA 0K only if there is a 079 N°OX >7321 n°1d and
the 1129 were 1pnn that it is oYY 10112 MOR and] by 12 Pr it is n"An 2192 V2 and the 1327 were N7 that it requires
o°ww; what did the 73121 M0°X accomplish since we can always add more 2n°7 and be Svan. See ‘Thinking it over’ # 1.
7 The question remains how can we use these pots and be Svan the 7orn2% Mo°Xk! What is the s'x72x question?!
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Since one is capable of adding more 777 and be »v2» the 912°K in '0 -

Mmoo anticipates a difficulty:
- 250 02 MInY 85‘,7‘111 1 99V DI8YY T XD

And this is not similar to the case of branches which fell off from a palm tree

and fell into an oven during %''Y%; where the rule is —
- (3,197 79:3) 170N D191 OI8Y 1YY NaINY

He adds more prepared wood (so that the MK Xy are 2172 Hv2 to the N7 *XY)
and he burns all the wood (the Mo°% and 7n°77). We see that we are S02n an 771n2% 13277 MO°X —

mooIn responds; the two cases are not comparable -
= ND 19NN 19 YNY 1YY HNT > HaN "nnn 3 YNV Y PR NP NOIN DNNT

For there by the wood the m10°R of 77%?» has no source (root) in the 771n;

however something which has a 79077 3% waw (like y»nn) it is not permitted to be
Svan this 791037 13297 M0°R. How can the X3 ask that we should use these pots after noo and be
72nn3% MoK Yvan?

Mmo0IN answers:
= NM2YVY *NIN NIIN) DININ DI 13929 299 WYY

And nov 2"17 explained (the reason why we can be v2n the 771032 T0°X in this

case is) since there are two causes to be lenient; firstly -
- PYLAN NINY NN 30 XYW INWUNY D195 DYV 1IN NIIY

That the absorbed ynri is 5'"9u1 and secondly there is only a ynn ywas that is

mixed into a Y392 K9 (it is not oyv 1M1); in such a case we may be w2 an MoR
/gl

MooIN cautions:
= 139192 NOY 729991 1WI999 2917 91210 298 19924199

And according to the explanation of 701 71", it is necessary to say and qualify

the meaning of the s'X7mX question 3292 XY 72¥°93; the question was limited only -
- A 0)9Y Byv 1M 1a9h 1YY N3P IN

If 29 maintains a0 5'"»W3; however if 27 maintains that 5"5v1 is MOX, there can be no

¥ Anything that was attached to the ground on v"y and became separated on v"y is %P and may not be used on
v"1. The M0°X of 7¥P is (only) 1212777,
° The %P1 MoK was created solely by the 1127.
19 Each one of these two reasons (p"903 and 11922 y1wn) would make the mixture 72¥>72 90, when these two reasons
combine in one case; it is MOX 2027 MM even 771N, See PXIAW D27
' See previous 1k 1"7 'own [TIE footnote # 3], where X327 was unsure whether 27 maintains 70X 5"5v1 or 0.
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question that we should leave the pots until after 109 and use them 11°»2 X5W since 0K PYVIAN PR
77105 (and there is no XM2°Y? >nN1N since MOXR 5"501).

mooIn offers another explanation why we are not concerned for 72nn3% 0K PoVIA PR
=10 09N DY MPIPAY 1137 Y9N PNYY 13939

And the "9 explains that since these are earthenware pots -
- Zaays7 23wn A1 03PN BAY PN PION 1N ON

If they should remain "R (since 771N3% M0°R Povan PX) and there is no remedy

for them, this is considered 72¥°72 and therefore it should be permitted to cook 771037 in
these pots with 111 11RY —

Mmoo anticipates a difficulty:
= DIPN NY PRY 32 DY N 1D 190N NI NI PRY N7 910N 1239947 2) DY 9N

And even though regarding an earthenware pot which is not a 2 32, we forbid

using this pot, even though there is no remedy (it cannot be koshered); why is it that
by an 11 12 X we do not consider it 72¥°72 (even though 73pn 07 PX) and by noo2 M7p we
consider it 72¥°727!

mooIn replies:
- Pynwn NN N9%Y NN YAN NN NOON Y92 DNNT DIVYN

Because there by a X» n2 arx 77°7p it absorbed much =919°X (therefore we

cannot be °nn it 7°1n3%); however here by y»nn there is only a ¥ (of yan
absorbed in the pot) -

29197 1279 HVAY D199 NIN 19192 XHWI DINYM
So since we will be using it with a J1°»2 X>@ it can become vz and it is like
TavoT.

SUMMARY

One may be 121 an 1751027 MoK if there is XN12°02 °n2n (it is 8"7v1 and only a wn
0°K). Alternately one may be 177mn2% M0°X 2van if otherwise the pot will not be
able to be used (provided that there was only a miniscule amount of T10°X).

THINKING IT OVER
1. Mmoo proves that 727037 MOX PovAR PR applies even to an 13277 MOX, for
otherwise what did the o221 accomplish with their M2°X since we can always add

12 See ("R) 12 7"7 2,75 '0n (see previous MR 7"1N TIE ‘Thinking it over’ # 1).
13 See footnote # 2.
3

TosfosInEnglish.com



1772°7W% 7" 'oIN R, 0°noo .7"02

an*7 and be van the 1o°k.'* Seemingly they accomplished that the 13297 MoK as is
(before we choose to add 2n°77) is ox."> What is mooin proof?!16

2. Can we coordinate the two answers in this M990 (701 1" and the °'"7) with the
two answers in the previous 21 K 7"7 'omn?"”

' See footnote # 6.
' Can we ask what did the 7m0 accomplish by making something 110K since n'"7n we can be 2van this 72027 MoR?!
The same seemingly applies to an 11177 MO°X.
' See nnx now.
17 See nor wrA.
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